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APTITUDE

Which company recently became the first Indian
company to achieve a market capitalisation of ¥ 5
Lakh Crores?

(1) Oil & Natural Gas Corporation
(2) Reliance Industries Limited

(3) Tata Consultancy Services
(4) Infosys

Who was awarded the “Adidas Golden Ball” for
his outstanding displays at Brazil 2014:

(1) Paul Pogba
(3) James Rodriguez

(2) Manuel Neuer

(4) Lionel Messi

Who was sworn in as pro tem speaker of 16™ Lok
Sabha?

(1) Sumitra Mahajan
(3) Kamal Nath

India’s position in the export of textiles in the
world market at present?

(2) Gopinath Munde
(4) Arun Jaitley

(1) 1% largest exporter
(2) 2™ largest exg I
(3) 3" largest exporter
(4) 4" largest exporter

XPO

Which country has become the first country to
ratify Marrakesh treaty to facilitate access to
published works for persons who are visually
impaired or otherwise print disabled:

(1) USA (2) China

(3) m (4) Israel

Who is the presiding officer of the Lok Sabha?

(1) Speaker of Lok Sabha

(2) Deputy speaker of Lok Sabha
(3) Leader of the House of People
(4) Both (1) & @)

International court of arbitration has recently
given its permission to India to go ahead with
Hydro Electric project in the state of:

(1) Himachal Pradesh (2) Arunachal Pradesh
(3) Mammu and Kashmif' (4) Rajasthan

Which Chapter of The National Food Security Act
2013 speaks of Women Empowerment that Women
of eighteen years of age or above to be head of
household for purpose of issue of ration cards:

(1) Chapter VII (2) m

(3) ChapterV (4) Chapter IV

The ozone layer lies in the:

(1) Stratosphere’
(3) Tropopause

(2) Troposphere
(4) None of these

1.

[A-1]

FJf g & § B9-@ AT T T 5 @ Fs
TR ToMBT W BT qrelt Gee B

(1) S qve AgRa T e

(2) Relfa g=fes fafies

(3) T Frawer widfe

(4) FTHIRE

Feile 2014 § IR S weI @ R R ‘cdiem
Tiesd A R & gefa fear T

(1) 9 qrar (2) FgeTE eI

(3) S U (4) frRe =

1647 diH-awr & o 29 W B w0 T BA vy Rew
7

(1) gEn Hem (2) TrdiArr gog

(3) T (4) ST S

aém;ﬁﬁwwﬁm%ﬁwhﬁwaﬂm
T 8?7

(1) 9B |99 937 A 2

(2) 0 w9 31 Pt 3w

(3) U we® T e

(4) 9 g9 T97 Frafas 3w

frafafea & & S-ar 3n WiBe &Y A afige @
qIe qE AN S S gEeaea A1 guor R el 3
YR Pl TF UgEH F WeRd WA Bl &

(1) 3.@8.q. (2) 99
(3) Ra (4) dsraEE
- & fords st B dar 87

(1) TH-THT H TG
(2) -9 H ITHNR
(3) -89 e H AT
4) & (1) @ (2)

AT faEs 9Aeg 3 o & § 9Rg B -3
w;ﬁaaﬁgaqﬂq‘ramtﬁmﬁaaﬁaﬁﬁwﬁm
87

(1) FAmEE g (2) HEITET W2

(3) 99 Ud FHFER (4) T

TS @ g AftEm 2013 F1 Hi-61 e qia

TREHIOT H a0 HTam & 5 18 af a1 368 wuEr 9w
F el B Ve P ¥ qfear A S

(1) @& Vi (2) sty VI

(3) s9g Vv (4) =g IV

SN qXT el Red e &

(1) ¥9a9 Hea (2) e §

(3) e & (4) ¥ @ B3 T
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10.

31 f 15

12.

13.

14.

15.

16.

17.

Can courts inquire into validity of the proceedings
of Parliament?

(1) Yes, any court on grounds of alleged irregularity
of procedure.

(2) Yes, High Court of Delhi only on grounds of
alleged irregularity of procedure.

(3) Yes, Supreme Court of India on grounds of
alleged irregularity of procedure. d

(4) No, No courts shall have jurisdiction

This is the rate at which Reserve Bank of India
borrows money from commercial banks:

(1) Repo rate (2) Reverse Repo rate
(3) Statutory Liquidity ratio (4) Cash reserve ratio

Identify three leader states in wind energy among
the following:

(1) Bihar, Jharkhand, Uttar Pradesh

(2) Maharastra, Odisha, Bihar

(3) Maharastra, Madhya Pradesh, West-Bengal
(4) Tamilnadu, Maharastra, Gujarat

For calculating Body mass Index, weight of the
person (In Kg) is divided by the:

(1) Square of the weight (in kg)

(2) Square of the height (in meters) 1

(3) Square root of the height (in meters)

(4) None of the above

The nomination of a candidate for election to the office
of the President must be subscribed by at least ...
electors as proposers and .... electors as seconders:
(1) 25-25 (2) [50-50

(3) 100-100 (4) None of these

The speech ‘Annihilation of Caste’ (1937) was
given by:

(1) Jawahar Lal Nehru
(3) Bal Gangadhar Tilak

(2) B.R. Ambedkar
(4) Sunderlal Bahuguna

A line on a meteorological map joining places of
equal rainfall is called:
(1) Isoclinic
(3) Isogenic

(2) Isobar
(4) Isohyet

Which court shall have power to issue directions,
or orders or writs including writs in nature of
habeas corpus, mandamus, prohibition, quo
warranto or certiorari under article 32(2) of the
constitution of India, which may be appropriate
for the enforcement of fundamental rights:

(1) High Court

(2) Supreme Court

(3) High Court as well as Supreme court
(4) District Court

10.

i

12.

13.

14.

15.

16.

a7

[A-2]

?Wmaﬁmaﬁ%maﬁﬁﬁﬁﬁm

?

(1) ¥, Praafy t #Rm i @ omR w®

(2) ¥, Rl S=-"ERE 39d ARl @ sRE
AfTafEaa & R @

(3) &, 9G # TR ARy # Fhe
AERET 3 MR W

(4) 8, <Al # B AET g T84 2

7% 98 3 ¢ e W Red ¥% oife i aififas §9t
¥ o9 39X o &

(1) Wk (2) Rag W@ e

(3) e T ST (4) T ERR eI

frfofeT & ag oot & & ol wdt @ gEEE:
(1) feEr, sIREve, Sae-Ry

(2) werrsg, anfgam, RER

(3) HENUSE, HE-WRW, Uf¥Eq &

(4) dffeTg, WeRT, e

fve somm gEeis e 0 3 R afe @ )
(Reetarmr &) at fidra Rean s #:

TSl & 3 g9 g et ot &t Amiee @ Rl
A BT ....... GAGHA WD B A O
T IHH G HE AR

(1) 25-25 (2) 50-50

(3) 100-100 (4) =9 & FE T

“Annihilation of Caste” (1937) W% w v f5ed
arn Rar

(1) &R @ J8. (2) 9.9, IT=_THT
(3) 9 TR s (4) G S

A T T W @9 9t 3 e B Sis gt
0 @ B, S weand B

(1) SEaEIS (2) SmEEER
(3) HRESIE (4) sEHIERT

-} AT B ARG B WUE D e 32(2) 3
o @@ PRy srgar omRy srgar o= gawiwr 3
Fife & et afta o, wEry, Pl sfer
9eB] HGal IS o A B B ARHRK B S
o AR H yadT 3 fig Suges ?

(1) I=-EE

(2) Hatea-gray

(3) TeE-~ERH o o & wafe-uEey

(4) ForEm-~grrey

.......
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18.

19.

20.

21.

22.

23.

24,

25.

26.

27.

Khaira disease of paddy is due to soil deficiency of:
(1) | Zine (2) Iron
(3) Potassium (4) Boron

Which is the only city in the world to be situated
in two continents?

(1) Gibraltar (2) rIstanbul
(3) Cairo (4) Athens
Which is good cholesterol:

(1) LDL @ 'HoL'

(3) VLDL (4) Chylomicron

Six person A, B, C, D, E and F are standing in a
circle. B is between D and C. A is between E and C.
F is to the right of D. Which one is between A and F?
M [E @ c

3y ‘D (4) None of these

In a certain code language ‘bring the white board’
is written as ‘ka na di pa’ and ‘White and black
board’ is written as ‘na di sa ra’. How is ‘the’
written in that code?

(1) ka
(3) 'kaor pg-

(2) pa
(4) ra

A number consists of two digits. The digit at units
place is two times higher the digit at tens place.
The numbers, formed by reversing the digits is 36
more than the original number. Find the six-time of
original number:

(2) 1288

(1) 188
(3) 298 (4) None of these

How many four digit numbers can be formed
using the digits 0, 1, 2, 3, 4, 5 if repetition of digits
is allowed?

(1) 1296 (2) 1680
(3) 1800 (4) 1190
If °C, = *°C,_4o then '°C, is equal to:
(1) 4896 @ 816
(3) 1632 (4) 3368

The lateral surface area of a cube is 256 m>. The
volume of the cube is:
(1) 64m’

(3) 256 m°

) 512m°
@) 216 m°

The base of a triangular field is 3 times more than
its altitude. If the cost of cultivating the field at ¥
280 per hectare is ¥ 3780, find its base and altitude:

(1) Base 600 m, Altitude 200 m
(2) Base 200 m, Altitude 600 m
(3) Base 300 m, Altitude 900 m
(4) None of these

19.

20.

21.

22.

23.

24,

25,

26.

27.

[A-3]

a9 F @0 A7 g F w3 PR &

(1) s/ (2) aEr

(3) TreREm (4) FIH

A weENl ¥ Rag e &1 @ a9 =t - B
(1) FEeT (2) F&gw

(3) FAA (4) g

B8 T AW DA B

(1) LDL (2) HDL

(3) VLDL (4)

B ARG A, B,C,D,EW FlHgad @3 ¥ B, D @@
CamaAEAEGECIa T F, D oy
TWE 81 AT F 3 gy 3 87

(1) E @ C
3 D (4) T & P T

ft Mffea @i 9T § ‘bring the white board’ & ‘ka
na di pa’ T§ ‘white and black board’ # ‘na di sa ra’
forar o B @ ‘the’ B 3@ s F 3 Rar s

(1) ka (2) pa
(3) kaorpa (4) ra

@ Ge | 3 of% ¥ {HE D e W i @R D e
Il 3% B N ¥ ofHt H Iwe X W N g dew
Mes e 4 36 o ¥ M den &1 & 1 7@
T

(1) 188
(3) 298

(2) 288
(@) T & B T

% 0,1,2,3,4,5 F T @ 9K B e B
;‘mﬁmmmzu&dﬁﬁmﬁfﬁwﬁ
?

(1) 129 (2) 1080
(3) 1800 (4) 1190
qﬁ 2°C, = mCr.w fh QBCF = ?

(1) 4896 (2) 816
(3) 1632 (4) 3368

g H e TSI %0 256 m® B & 59 &1 e
BN

(1) 64m° @) 512m°
(3) 256 m° (4) 216 m°
@ AR @0 & 9MR auw fde @ W

T #1 AR gEe @t i @r T 280 SRy d3REX @t
TT 9T ¥ 3780 21 o 36 SR oY e aaei:
(1) MR 600 Hiey, dider= 200 Hrex

(2) MR 200 #Hrew, s 600 Hiey

(3) MUY 300 #Htex, siderw 900 Hiex

(4) 3@ & P T
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28.

29,

30.

31.

32

33.

34,

35.

36.

The radii of two cylinders are in the ratio 2:3 and
their heights are in the ratio 5:3. The ratio of their

volumes is:
(1) 27:20 (2) ‘2027
) 49 (4) 9:4

Probability of getting a multiple of 2 on one dice
and a multiple of 3 on the other dice, when both
dice are thrown simultaneously is:

(1) 16 (2) 512
(3) [11/36 (4) 5/36
The value of ‘fa\/a\/a ..... o is:
1 (2)a
@) a 4) »

If INSURANCE is coded as ECNARUSNI, how
HINDRANCE will be coded?

(1) CADNIHNCE (2) HANCDEINR
(3) AENIRHDCN (4) ECNARDNIH

Which figure represents the relationship between
polygons, quadrilaterals and triangles?

M @

()

The age of the Earth is approximately 1.3 x 10"
seconds, and one year is approximately 3.2 x 10’
seconds. Which of the following is closest to the
age of the Earth in years?

(1) 2.5x10°
(3) 1.9x10"

(2) Maiaieiod”
(4) 2.5x10"

What will happen to the area of a rectangle if its
length is doubled and breadth is tripled?

(1) 5 times more the area of the old rectangle

(2) Area will remain the same

(3) 6 times less the area of the old rectangle

(4) 6 times more the area of the old rectangle

The perimeters of a square and a regular hexagon
are equal. The ratio of the area of the hexagon to
the area of the square is:

M 2/3:1
(3) 3/3:2
A metal cube of edge 12 cm is melted and formed
into three smaller cubes. If the edges of two

smaller cubes are 6 cm and 8 cm, find the edge of
the third smaller cube?

(1) 8cm
(3) 12cm

@) G
4) J2:3

2) Hoem'
(4) None of these

28.

29.

30.

31.

32.

33.

34.

35.

36.

[A-4]

@ RidvsT it Bt 2:3 3 orgua 7 ¥ o R S
F YU 5:3 Bl I A B AIUE ¥

(1) 27:20 (2) 20:27

(3) 49 (4) 9:4

TH IR W 2 F P TG g R O 3 B YO 9
gﬁﬂﬂ@mw@ﬂ,qﬁﬁmﬁwmﬁ%wﬂ

(1) 16 (2) 5112

(3) 11/36 (4) 5/36

ayaya..... o FHAF &

(M 1 (2) a

@ a’ (4) w

4R INSURANCE %I ECNARUSNI i @ §, o

HINDRANCE &I &1 $ie & sar?

(1) CADNIHNCE (2) HANCDEINR
(3) AENIRHDCN (4) ECNARDNIH

Frfefaa & & S fe agae, ages ot Brgw 2

g B g9
(2)

o &
3 )

gt i T 1.3 x 10" Y5y T 0% a¥ e

3.2x10 i 21 Freafofaa & & S9-ar geh #
A1y a9 ¥ 3 waifts Fee

(1) 2.5x10° (2) 4.1x10°

(3) 1.9x10" 4) 25x10"

AT BT HABE 1 & AW AR gEH w=E G o
drer gt % & s

(1 AT B A% H 5 AT TR

@) glaam

(3) YU AT % &K H 6 T FH

(4) U MTEE B AET B 6 AT TR

@ T G G e & ORMRT aER ¥ vegw @
&% § a3 a%a 3 di9 ogu @
(1) 2¢3:1 2) 2¢3:3
(3) 3/3:2 (4) V2:3

% qiftas o9 R R 12 & R, Bt e 3 s
o 9 T AR & 8RR oWt & R 6 & ok 8
. B, @ AW e o= = R samei?

(1) 8 & (2) 10 &

(3) 12 . (4) 379 & 3
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37.

38.

39.

40.

4.

42.

45.

A publisher sells copies of books to a retail dealer
at ¥ 5 per copy but allows 25 copies to be counted
as 24. If the retailer sells each of the 25 copies at ¥
6, his profit % is:
(1) 20%
(3) 25%

(2) 24%
(4) 40%

If the radii of 2 concentric circles are 15 cm and
13 cm respectively, then the area of the
circulating ring in sq. cm is:

(1) (176 (2) 178

(3) 180 (4) 200

In this question select the odd one out.
M X @

(3 H 4) Z

Solve the equation on the basis of the given system.
a=5(34) 15, b =14 (45) 56, c = 9 (?) 45:

(1) 56" (2) 65

(3) 34 (4) 45

Three ladies X, Y and Z marry three men A, B and
C. X is married to A, Y is not married to an
engineer, Z is not married to a doctor, C is not a
doctor and A is a lawyer. Then which of the
following statements is correct?

(1) Y is married to C who is an engineer

(2) Zis married to C who is a doctor

(3) X is married to a doctor

(4) None of these

If ‘P’ means ‘+’, ‘Q’ means ‘X’, ‘T’ means ‘+’ and
‘V'means ‘', then18P12T4Q8V10=7?

(1) 28 (2) 36

(3) 82 (4) 29

A father tells his son, “l was three times of your present
age when you were bom.” If the father's present age is
48 years, how old was the boy 4 years ago?

(2) 12 years

(4) 6years

(1) 16 years
(3) [8years

How many triangles are there in the following figure?

K

(1) 11 2
(3) 10 4 9
The letters of a musical instrument are

AOSPXNOEH, If they are rearranged in the correct
order what will be the first, last and middle letter
respectively:
(1) NAO
(3) | SEP

(2) EXH
(4) NOA

37.

38.

39.

40.

4.

42.

43.

45.

[A-5]

T% SHeh gmﬁ e fadar &t T5 Wy
(#di) =T @ dfeT 25 )%’r24uf%rﬁﬂ%aﬁ
agqﬁr 2 AR mmaﬁr(m)?sw
I 8, Ehaﬁi%aa%srmmammam%

(1) 20% (2) 24%

(3) 25% (4) 40%

M A & & IR A gu B B w15 A9,
ai‘rusaﬁ 2, @ gia B 1 Aaew Reaw @t &l

(1) 176 (2) 178
(3) 180 (4) 200
T 9 | I B g

(1) X (2) U
(3) H 4 Z

g Tyl B e g P @i o ew B0
a=5(34) 15, b = 14 (45) 56, c = 9 (?) 45:

(1) 56 (2) 65

Q) 34 (4) 45

a9 Afed X, Y@@ Z SR st M gEw A, B @@ C @
B ¥ X At AR AR R Y B P @
T A ¥ Z B ST @ A AR B C SRy
TR AT ¥ @B FE T B

(1) Y& I C @ g 8 5 oo olifrae B

2 ZH TN C A e fF o M ?

@) XH el ST A g B

(4) T q FE TE

Elﬁ' P’ ﬂiTWf ;+r’ lQ! ﬁm :x;’ ‘T'HSTGT& . ah-{
Vaad ¥ A18P12T4Q8V10=?

(1) 28 2) 36

3) 32 @) 29

T i oo g3 @ Feaw B, ‘om @ Y gw A @@ §
T o g & A T oan” AR R i adwm
arg 48 ¥ B, o 4 af ved g 2 ong Reee @ @i
(1) 16 ¥ ) 12 7§

@) 8T @) 6 ad

Frefefees Rt 3 Bl 1 e Rocedt 87

PN

(1 1 (2 13

(3) 10 4) 9

% @i gy 99 1 AT & AOSPXNOEH, af 38
9 FaRed B T& BT T @1 o 8, @ wow e
Td A Y HAM: BN
(1) NAO

(3) SEP

(2) EXH
(4) NOA
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46.

47.

48,

49.

50.

51.

52.

53.

TECHNICAL APTITUDE

The value of gravitational constant between two 46. f&fd & &

bodies in vacuum is 6.67x10™"" Nm? kg_z. Its value

in a denser medium of density 10 gm cm™ will be:
(1) 6.67x107"° Nm kg‘2
(2) 6.67x1072' Nm? kg™

(3) B67x107/ Nm’ kg3

(4) 6.67x10° " Nm“ kg~

The drift velocity of free electrons in a conductor is
Va and a current i is flowing is it. If both the radius
and current are doubled, the drift velocity will be:
(1) vq/8 (2) vg/4

(3) Vg2 4) vq

The pitch of sound note depends upon:
(1) Its amplitude (2) Its frequency
(3) Its wavelength (4) Its velocity

Two waves of equal amplitudes and equal
wavelengths superimpose in different phases.
The amplitude of resultant wave will be maximum
when the phase difference between the waves is:
(1) |Zero (2) w2
3 =« (4) 3m/2

A tank is filled with water upto height H. When a
hole is made at a distance h below the level of
water, the horizontal range of water jet will be:

(1) 2/h(H=h) 2) 4/h(H+h)
(3) a/h(H-h) 4) 2/h(H+h)

In an ideal L-C circuit, the capacitor is charged by
connecting it to a d.c. source which is then
disconnected. The current in the circuit:

(1) Becomes zero instantaneously
(2) Grows monotonically

(3) Decays monotonlcally

(4) Ose

The magnetic flux linked with a coil of 10 ohm
resrstance varies with time according to equation
¢ = 6t° — 5t + 1 weber. Induced current at time
t=0.25 second is:
(1) 1.2A
(3) 0.6A

2 0.8A
4) 0.2A

216

The nuclear radius of an element X° is 7.731

fermi. The radius of nucleus of y8 is:

(1) 7.731 fermi (2) 21.193 fermi
(3) 2.577 fermi. (4) 2.86 fermi

The current gain (o) of a transistor is 0.95. The
change in emitter current is 10 mA. The change is
base current will be:
(1) 0.5mA
(3) 10.5mA

(2) 9.5mA
(4) 200/19 mA

47.

48.

49.

50.

51.

52.

53.

54.

[A-6]

a%qaﬂ 3 d9 ﬁm & AN
6.67x10""" Nm” kg™ 81 10 gm cm™ 974 3 &9
e ¥ gHH A9 8em:

(1) 6.67x107"° Nm? kg™

(2) 6.67x107%" Nm? kg™

(3) 6.67x107"" Nm? kg™

(4) 6.67x107"° Nm? kg™

TH A6 A A AR B AP AT vy § oW
ﬁﬂnwwﬁaﬁmﬁlﬁmaﬁﬁmwwﬁ
T e g0 A FT & g A& S 3 & SR
(1) va/8 (2) vgld
(3) vgl2 (4) vq

G @ & (R=) o Frelk s &

(1) 9% MWW 9 (2) IuH sl W
(3) FmH T = @@ (4) I IT |

TN AW g §9F aeree # & adl Ale e §
ARG A & oRowh a1 =1 omm sty
B o IS 919 HEwR B

1 =
@) =

T 0% § H $9E 0% o 9 81 99 9 3 9
¥ h TR W BT & Rar o @ PR 9 qrht

&ftr o @nft:
(1) 2/h(H-h) (2) 4Jh(H+h)
4) 2/h(H+h)

(3) 4Jh(H-h)
@mLamﬁwﬂaﬁﬁewm#
sirgat At fear s B our omfE 89 3 W=

F ger forar o &, aRug F g

(1) & g & s

(2) UF TN &9 § gt

(3) % §AF &9 § &g 2

(4) T AT A @RI

10 Bﬁﬂmqaﬁﬁ@’tﬁﬂﬂ T T Tt B
e THHET ¢ = 6t°— 5t + 1 Iq F AAR FEwr B
TG t=0.25 A 9 ARG g7 &

(1) 1.2A (2) 0.8A

(3) 0.6A (4) 0.2A

) w2
(4) 3n/2

aw
Ll

X*' aw & R N B 7.731 fermi 3, y* R
i B a8

(1) 7.731 fermi (2) 21.193 fermi
(3) 2.577 fermi (4) 2.86 fermi

U% R B g0 @9 (o) 0.95 31 Ioasis Gwr F
qREds 10 mA B @ smar arr # ofad= @

(1) 0.5mA ) 9.5mA
(3) 10.5mA (4) 200/19 mA
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60.
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62.

A convex lens is in contact with a concave lens.
The ratio of their focal length is 2/3. The focal
length of combination is 30 cm. What are their
individual focal lengths:
(1) =75, 50
(3) 75,50

(2) -10,15
(4) <15,10

The amplitude of a particle executing simple
harmonic motion is 4 cm. At what displacement
from the mean position its half energy will be in
the form of kinetic energy and half energy will be
in the form of potential energy:

(1) v2em (2) [2¥2 cm

(3) 1cm (4) 2cm

A current is flowing in a wire of non-uniform
cross-section. Which one of the following is
constant throughout the length of the wire:

(1) [Current only

(2) Current and drift velocity

(3) Drift velocity only

(4) Current, electric field and drift velocity only

Two thin, long parallel wires separated by a
distance b are carrying a current of i amp. each.
The magnitude of the force per unit length exerted
by one wire on the other is:

';.l()i2 i
o 2 o il

poi noi
3) b (4) i

The ratio of the coefficient of thermal conductivity
of two different material is 5:3. If the thermal
resistance of the rods of same thickness of these
materials is same, then the ratio of the length of
these rods will be:
(1) 35

(3) 34

(2)1 63
(4) 3:2

When electron jumps from n=4 to n=2 orbit, we get:

(1) Second line of Lyman series

(2) Second line of Balmer series

(3) Second line of Paschen series

(4) An absorption line of Balmer series

An o particle of energy 5 MeV is scattered through
180° by a fixed uranium nucleus. The distance of
closest approach is of the order of:

(1) 10%cm 2 10"%em

(3) 107" em @) 10" cm

Fast neutrons can easily be slowed down by:

(1) The use of lead shielding

(2) Passing them through heavy water

(3) Elastic collisions with heavy nuclei

(4) Applying a strong electric field
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[A-T7]

@Gﬁgﬁjﬂ@m%&%aﬁﬁwwm
T TRA F AU 2/3 ¥l T G Doy
30 30 & 81 IR ST BiF IRA w4 &
(1) -75,50 (2) —10,15

(3) 75,50 (4) -15,10

I SE B g Rl O #1 mEm 4 cm B
T Rl § o Rees w oo ot omdt e g
amdt Rafsr &=t anfr:

(1) v2cm
(3) 1cm

(2) 2v2cm
(4) 2cm

fRHlT s qRe8T 9 AR & R vaiRa @ @ ¥ A
@ o T 7 Freafafaa & @ Fn am am

(1) Faa 4rT

(2) 9 ©d ST A

(3) Faw FFTE A

(4) o7, RET &9 & S 3

A T g FHRR A 9T b Mot g w Rem ¥
5% § i amp. o1 & W ¥ W AW W TR W
IR 9T CHiH T W T a a9 B GRAT B

2 .2

1) koi 9y RO
) s (2 B2
Roi poi

@) 22 et

q @l B IS AW TN 5:3 3 egua 7 ¥ AR
¥ 531 % vy shy o w9 Al 3 R s @
@ & B B FEEA F U Em:

(1) 3:5

(2) 53

(3) 34

4) 3:2

5 UHRA n=4 & n=2 ¥ FEaT ¥ a9 & g e
(1) @ Aol i fEda Y

(2) I avft it facig Yar

(3) weEd AR Pt fad Jar
(4) IF 2oft St srasior YEr

5MeV Fl & TF o H REY aifs | 180°
& B 1 yifla Bar B, o FO A e 3 ey

TgT @ g F HfewE ¥
(1) 10°%cem 2 10"%em
3) 10 cm 4 10" cm

dier AT F FEE @ A T H D e
(1) 99 3 FT9 H IWAT FCN AR

(2) I A o H & I Al

(3) Tl AR AR F TIRY WO HOGT AT AR
(4) ®a Iga &= T AT AR
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65.
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69.

70.

i 2

72

73.

Of which physical quantity the unit is parsec:

(1) “Eength (2) Mass

(3) Time (4) Electric field

The focal length of convex lens, of a simple
microscope, is 5 cm. For least distance of distinct
vision, its magnifying power will be:

(1 2 (2 4

(3) 5 (4)16]

Boiling water is changing into steam. At this
stage the specific heat of water is:

Mo (2)l o
2} 51 (4) 0.5
The path difference between the two

monochromatic waves of wavelength A for
constructive interference must be:

A x
(M) (-1 2 @ (n-1) 2
(3) pnk. 4) (2n+1)%

A small ball of radius r is falling in a viscous
liquid. Its terminal velocity is p_roiportional to:

(1) r @
@ r @ r

Which of the following has maximum unpaired d-
electrons?

(1) zn*? ) [Fe®
(3) Ni*? 4) cu’
The ion that is isoelectronic with CO is:
(1) oz (2) Nz

(3) 'CNT (4) 03

Which enzymes is used as catalyst to convert
glucose into ethanol?
(1) | Zymase
(3) Maltase

(2) Invertase
(4) Diastase

The value of AH for the reaction
N2 + 3H, == 2NHj is:

(1) |Negative (2) Positive

(3) Zero (4) None of these
The oxidation state of C, in K; Cr; 07 is:

(1) +7 (2) 1+6°

(3) +3 (4) +2

The outer most electronic configuration of most
electronegative element is:

(1) ns’ np3 (2) ns’ np4

3) Ins®np® (4) ns’np®
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TRAE Sy A o & aEw b

(1) =g (2) =M

(3) "7 (4) fag &=

T W gEedl @ 9O d9 @ BiHE g0 5 cm
W gfte = g B R Tad onad s Ak
(1 2 2 4

@3) 5 4) 6

ST AT 9 A9 T F@ Ve ¥ g6 Rafy F o
faftre o 2

(1 o (2) oo

(3 1 (4) 05

ar ¥ A H A el ww @ 3 owe wond
BT ¥ TR ST Al

(1) (2n-1) % .

@) @2n-1) 3

A

(3) ni 4) (2n+1) 2

r Bowr B @@ 81 et | osE F PRo@ R, Sme

T 3 A 2

(1) r @ r

® @ r’

Frer & e qed oifte ogfing d-gaegtee &7
(1) zn" 2) Fe

(3) Ni? @) cu'

98 AEA St CO H TRA-FaTIH 2

(1) o3 @) N

(3) CN- @) o}

T S @S B e § oRaki s@ 3 R
IO FXar 87

(1) A" (2) FH

(3) HeH (4) sEEH

ARABBAT N2 + 3H, == 2NH; 3 Rid AH &7 71 &:
(1) FTHS (2) ¥ TH

3 = 4) T & P T

K, Crp 07 & C, %t siferfietor dear &t

(1) +7 (2) +6

(3) +3 (4) +2

BN foga FoneTS Tl @ AEAT B F A
fomare @ @:
(1) nsznp3
(3) nsznp5

() nsz np*
(4) ns np6
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For the reaction, C(5) + COy => 2C0(g), the

partial pressure of CO, and CO are 2.0 and 4.0
atm. respectively at equilibrium. The Kp for the
reaction is:

(1) 05
(3) 1800

The vapour pressure of two pure liquids A & B are
100 and 80 torr respectively. The total pressure of
solution obtained by mixing 2 m of A and 3 mole
of B would be:

(1) 120 torr
(3) /88 torr

(2) 4.0
(4) 32.0

(2) 36 torr
(4) 180 torr

Which of the following is used as an anti
knocking material?
(1) [ TEL
(3) Glycol

(2) C,HsOH
(4) Freon

What volume of 0.25N acid would be required to
react with 0.500gm of Ca(OH);
[Mol.Wt.:Ca-40,0-16,H-1]:
(1) '54.0ml

(3) 100ml

2) 108ml
(4) 27ml

The precipitate of CaF,(Ksp=1.7x10""") is obtained
when equal volumes of the following are mixed:

(1) 107*M Ca®*+107*MF"

(2) 107°M Ca**+107°MF"

(3) 10°M Ca’*+10™°MF~

@) 10°M Ca®*+10°°MF~

In the process of catalysis, catalyst change the
rate of reaction because it:

(1) Lowers the energy of activation

(2) Enhances the energy of activation

(3) Gets consumed after the reaction

(4) Can be regenerated after reaction

0.60gm of a substance dissolved in 100 gm of
water lowered its freezing point by 0.30°C. Find the
molecular weight of the substance. The moleculor
depression is 18.5°C for 100gm of water:

(1) 30 (2)p37

(3) 60 4) 74

An organic compound of molecular formula
C3HsO did not give Fehling’s solution test but
gives oxime with NH,OH. That compound is:

(1) CH»=CH-CH,0H (2) CH3CH,CHO

(3) | CH3;COCH3 (4) CH;=CH-OCH;
Salicylaldehyde is obtained from a compound [A]
in presence of CHCI3 and NaOH. Compound [A] is:

(1)'“Phenol_‘ (2) Toluene
(3) Benzene (4) Chlorobenzene
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HATHFEAT C(s) + COzq) == 2CO, ¥ CO; T CO F
i T AP § HA9: 2.0 9 4.0 atm ¥ B 3
o Kp @1 991 ®:
(1) 05
(3) 8.0

(2) 4.0
(4) 32.0

a’rgaaa‘anBammmm:moaso torr 2,
gm 2m B % 3 A7 PO 3 uvem @ AW Rea
?

(1) 120 torr
(3) 88 torr

(2) 36 torr
(4) 180 torr

=1 F @ = AT wored @ =g F gaer R o 2
(1) = (2) FUEA Chied
(3) TEHT (4) PR

0.500gm Ca(OH), & aiffkar & R 0.25 N ort @1
fe I R [Mol. Wt.:Ca-40,0-16,H-1]:

(1) 54.0ml (2) 108ml

(3) 100ml (4) 27ml

frfofes & & o @ o BeR w
CaF;(Ksp=1.7x10""") 3 sradivy wra 2 &:

(1) 107*M Ca®*+107*MF"

2) 107°M Ca®*+10°MF~

(3) 107°M Ca**+10°MF~

4) 10M Ca**+10™°MF~

IOREE B aiar §, S8R Al #1 3T T 2 @
% 7e:

(1) ufedas & ot @ oo & 2ar B

(2) uReaEE it St F ger 3ar 8

(3) IR & ysT @ 2 ST &

(4) AfuBRar & TS S A S g B

% 1% 1 0.60 AW HET 100 AW i F R @
U S H TeiH 0.30°C HH B oar 21 I AE F
AN FT BM 100 AW T H SNad FEea
18.5°C #:

(1) 30 (2) 37

(3) 60 (4) 74

TF BEH S R srfes G CaHgO ¥ “wefin
fawa=” qdwor 7€ 3 =% NH,OH & srrFary 2ar
21 a8 9fm B

(1) CH,=CH-CH,0OH
(3) CHsCOCH; (4) CH,=CH-OCH3
4% [A], CHCl; T NaOH & gSufefy #
fcraafzems 3o &1 4 [A] B:

(1) it (2) =glA
(3) =i (4) FANITI

(2) CH3CH,CHO
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90.
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A solution contains 195 mg/ml K®. The molarity of
the solution is:

3
1) 195;810

195x10°
39

195x10° x10~3

)

3)

Which of the following is aromatic?

(2 ;

(4) None of the above

The minimum number of times a fair coin must be
tossed so that the probability of getting at least
one head is at least 0.8 is:

() 7 (2) 6 _
@) 5 (4) None of these
The value of tan 1° tan 2° ...... tan 89°is:

(1) -1 @) 112

(3 0 G

If a and b are two unit vectors and Q is the angle
between them, then a+ b is a unit vector if:

(1) Q=m3 (2 Q=m4

(3) Q=mn/2 4) Q= 21!/3¢

A person of 70 Kg. is lifted by a helicopter with
the help of a rope. If the helicopter is rising up
with an acceleration of 4m/s®, (assume g=9.8ms™)
the tension in the rope is:
(1) /966 N

(3) Zero

(2) 966N
(4) None of these

A bird enclosed in big mesh cage hanging from a
spring balance first sits in the cage, then it starts
flying, the pointer of the balance will indicate:

(1) Lighter weight (2) Same weight

(3) Heavier weight (4) None of these

A motor car is travelling at a speed of 30 m/s on a
circular road of radius 500m. It's speed is
increasing at the rate of 2 m/s. The resultant
acceleration of the car will be:

(2) g Wc g

4 1.2 %ecz

A block of metal is exposed to beams of X-rays of
different wavelengths, X-rays of which
wavelength penetrates the most:

(1) 8A.U. (2) 6A.U.
(3 p2Aaryy (4) 4A.U.

1) 3.8m
M Sec?

6 m
©) Sec?

84.

86.

[A-10]

% fa@aT & 195 mg/ml K® R Remw 31 S &

3 3 -3
) 195 x10 @) 195x10” x10
38 38
195 x10° 195x10° x10~2
(3) ——— (4) R

f= & @ AR (aromatic) &7
1) @) Q

(3) (4) I F FE T
TF W8 R B g Rt R gemn o) B s @
F9 T 88 M H 9T BT ¥ F9 0.8 &

(1) 7 @) 6
(3) 5 4) T | FE &

tan 1° tan 2° ...... tan 89° & AN 2:

(1) -1 (2) -112
3 0 (@) 1

. A a @@ b A §HE IRT ¥ o Q I &g W A

g, @ a+ b IHE A M AR:
(1) Q=n/3 (2) Q=n/4
(3) Q=n/2 4) Q=213

TS A e s 70 B 8, et e @
Tl B weEa & I o W@ ¥ AR Refwrex amis?,
3 @/ IW A AR I WA, (g=98msT) @
& # a9 #7199 8

(1) 966 TH (2) 96.6 T

(3) g9 (4) ¥ q B3 7

% 31 Ristgr ot % foim o & e &, & Rl
3t 21 o Rafyer 9g @t B, @ 9= = P P
¥ § 1 Famem:

(1) M 97 (2) F@ TR

(3) s 9T (4) 79 9§ 3 T

T% AT Mt 500 H. Brewr Rt gamR At w30
R4 B TR g9 @R oqw wH A 2 A A
WA T W & T T IROmR &= am

M 3.8%%2 ) 2'-,'?/Secz
®) 6IySec2 @ 1-2%&:2

Rt a1 3 gd & o AR aeT def O TR
Rt Bieh Tt & P § @ @ wed o fat B:

(1) 8A.U. (2) 6A.U.
(3) 2A.U. (4) 4A U.
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98.

99.

100.

101.

Compilers can detect:
(1) | Syntax errors

(2) Semantic errors
(3) Logical errors

(4) All of these

(2) Circuit switching
(4) Telex switching

2%is i‘efe’#ed to as:
(1) 1KB
(3) 1GB

2 M’

(4) 1TB

ASCII stands for:

(1) American storage code for information interchange
(2) American standard code for information interchange
(3) American standard code for incoming information

(4) None of these

Pipelining improves CPU performance due to;
(1) Reduced memory access time

(2) Increased clock speed

(3) The introduction of parallellism

(4) Additional functional units

If the Laplace transform of f(t) is F(s) then the
Laplace transform of tf (kt), k>0, is:

_ dF(s) _ dF(s)
(M S (2) —

-1 dF(s/k) 2 dF(s/k)
(3) i gs = o ds

t
If |fu)t-udu=t3 then f(t) is:
0
(1) 13
(3) 3t

(4)

(2) BBt
@ t'

If the equations 2x -y + 3z = a, x + 3y—6z = o’ and
3x — Sy + 12z = 4 have a solution then the value of
ais:

(1 0

(3) i3 |

(2) i
@) 2

If A is an eigen value of a non-singular matrix A
then the eigen value of the matrix (Adj A) is:

(1) HALF X (2 1/2

(3) A (4) n/1]A|

The particular integral of the differential equation
x y" + xy' + y = cos(log x) is:

(1) sin(log x) ) —I—og—xsin(mg X)

(3) 4) —%sin(log x)

92.

93.

94,

95.

96.

97.

98.

99.

100.

101.

[A-11]

FAET AT W g
(1) 9 = e H

() ord Rwas Ffedt

(3) @ @ Ffear &

(4) S wft

geie B & WA & B
(1) ¥ Raf

(3) N Rafer

2% ) et Rear s 2
(1) 1KB
(3) 1GB

ASCIl & ared #:
(1) IARET BRY BT R A e
(2) FARFT w2 P PR FHAN ToET
(3) TERET We P BR FHHT TEAE
@) ¥ & P T

TEGERT CPU &t Fremmes @t gawd
(1) 78 & w7 afvm & 3 &R
2) %@ g FE iz 3 B

(3) HHFFIIHTT & S & HIR

(4) AR P SPEal 3 HRO

IR f(t) T aTEE @I F(s) B @ tf (kt), k>0 F
AT WYY BN

dF(s)
W sl

_ 1 dF(s/k)
B = =%

(2) 9ftgy fafem
(4) W9 Rafem

(2) 1MB
4) 1TB

_ dF(s)
2 P
k2 dF(s/k)
ds

-k

4)

t
IR ) t-udu=-t3 @ L) MW
0
(1) 13 (2) 6t
(3) 3t @ t
gk wfietor 2x-y+3z=q,x+3y-6z=a’ & 3x
~5y+122=4 % @H &0 & O o B 9F &
(1) 0 (@) +i
(3) 1+if3 4) 2

i A & Fepaoia e A 1 i A 8
e (Adj A) 1 AfHawies 7= 2

(1) A/ A @ 14
(3 2 (4) A1IA|

g THIBT x° y" + xy' + y = cos(log x) # fafire
A 8:

lo

(1) sin(log x) (2) —%sin(lag X)

Io% sin(log x)

(3) (4) —%sin(iog X)
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110.

The function f(z) =z |z| is:

(1) Analytic for every z

(2) Analyticonlyatz=0

(3) Analytic everywhere exceptatz =0
(4) ' Analytic for no point z

taken around the

dz
The value of q[—— %%
g[(z-s)(z—z)“

circle C:|z—2]=% in the positive direction is:

™zl ) 2ni

() 4mi 4) 8ni

The residue of f(z):t‘:?"i atz=0is:
(1) 1/2 @ 2

(3) 4 4)/0

On eliminating the arbitrary function f from the

relation z = f(y2 Ix), the partial differential
equation obtained is:
(1) 2px+qy=0
(2) px+aqy=0
(3) 2py+agx=0
(4) py+agx=0
tan (cos™'x) is equal to:
(1) A1=x2ix )
V1+x2
(3) V1+x% /x 4) xvy1-x?

If A is a square matrix of order 3 and determinant
of A has value 5 then the value of determinant of
the matrix (2A) is:
(M 5

(3) 15

(2 3 ,
(4) 'None of these
The function f(x)=|x| is:

(1) Differantiable at the origin

(2) Continuous but not differentiable at the origin’
(3) Not continuous at the origin

(4) None of these

The line §+%=1 touches the curve y=be ™ at
the point:
(1) (a, b/a)
) (-a, bla)
(3) (a, ab)
(4) 'None of these
x? y? "
The area of the ellipse —-+-5- =1 is:
a“ b
(1) mab (2) m(a+b)

(3) m (a’+b?) (4) None of these
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. BT f(z) =z |z| &:

(1) 7% z 3 R Rwews

(2) Fa9 z=0 % NS

(3) z=0 %I BlEH & 7B RwTH
(4) No @it z 3 fou Riems

Wﬁmﬁ'aﬁcqz—z;:% 3 ol @it R g

Ji—2 5 wam ¥
¢ (2=3)z-2)
(1) ni @) 2xi
(3) 4ni (4) 8ni
z=0 W f(z):“cﬁszzﬂmﬁnz%:
Zz

(1) 12 @) 2
(3) 4 (4 0
a2 = f(y’ Ix) ¥ RS B f B Rga F@ W
D STaHa THHT W Rear s &
(1) 2px+qy=0
(2) px+qy=0
(3) 2py+gx=0
(4) py+ax=0
tan (cos 'x) SVET BN
(1) Vi-x2 /x AP

V1+x2
(3) V1+x2 /x @) xV1-x2

X A T 3 FH F T e B aw Gl A H oA
5 21 @ amege (2A)  GRP® H AW e

(1) 5 (2 3
3) 15 @) T & 3 7T
% f(x)=|x| 8

(1) 99 frg W raserig

(2) 9 g W waa X ergeberg &
(3) T forg W waa &

@) ¥ § i T

§+%=1 ah y=be-’“'al e ﬁ“j‘ﬂ'ﬂ‘s‘f A

£

(1) (a, b/a)

(2) (-a, b/a)

(3) (a, ab)

(4) T § g T

2 2
ddga X+ Yo -1 1 dmwa @
a b

(2) m(a+b)

(4) 4 § B T

(1) mab
(3) m(a*+b?)
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120.

Solution of the differential equation % sin 2x -
y=tan x is:

(1) y=hnx+c1[(tanx)' (2) x-ysinx=c¢

(3) xytanx=c (4) None of these

A particle is thrown vertically upwards with a
velocity of 400 cm per second. It will return to this
position after:

(1) "1 second
(3) 2 second

(2) 0.5 second
(4) None of these

— A A A s
1

Let a=i+ j+pk and
la+b|=|a|+|b| holds for:
(1) Allreal p

(2) Norealp

(3 p=-1

(4) —

If in a triangle ABC, a=2, b=3, ¢=5 then Z C=:
(1) n/6 (2) n/3

(3) n/2 (4) None of these:

If x is real , then the least value of the expression
x? -6x+5

5 is:
X +2x+1
(1=l (2) = -
(3 0 (4) None of these

The number of normals that can be drawn from a
given point to the parabola is:

(=3 (2 4

(3) 2 4) 5

| (tan x + cot x)* dx =:

(1) tanx+cotx+c
(3) tanx—cotx+¢c

(2) cotx—tanx+c
(4) secx+c

Equation of the curve passing through (1, 1) and

satisfying the differential equation
L A ¥ is:

T x>0,y >0)is:

(1) =y @ x=y*

(@) x=2y (4) y=2x

The smallest positive integer n for which

2N
[1_] e
1=i

(1) 8
(3) 12

(2)74
(4) None of these

The centre of gravity of the surface of a hollow
cone lies on the axis and divides it in the ratio:

(1 12 2 13

(3) 2:3 (4) None of these

111.

112.

113.

114.

115.

116.

o i 8

118.

119.

120.
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FaH FHHT g% sin 2x —y=tan x F & BT

(1) y=tanx+c/(tanx)

(3) xytanx=c¢

(2) x-ysinx=c

4 ¥ q 3§ &

400 cm SfY 99 H AT F & FT I P AT By
™ 81 a8 g9 Rafy F gawr @

(1) 1 e 95 (2) 0.5 832 9K

(3) 2 ¥BE T (4) T & P 7

AR a=i+j+pk X b=i+jek @ [a+b|=|a|+|b]

N D p ® 79 8

(1) @4 aafas p

(2) e <t aafes p & Y @

(3) p=-1

4) p=+1

Ay B Brgst ABC & a=2, b=3, =57 £ C=:

(1) /6 (2) /3

() w2 (4) T & 32 &

qﬁxaﬁaﬁaaﬁwmwmﬁwm
X“+2x +1

B

(1) ~1 2 -1/3

@) 0 (4) ¥ § P35 7T

Rt R T g & Rl T ¢ W T et
I e et

(1) 3

(3) 2

[ (tan x + cot x)? dx =:

(1) tanx+cotx+c
(3) tanx—cotx+c

(2) 4
4 5

(2) cotx—tanx+c
(4) secx+c

(1, 1) ¥ 7oA T T oEmW G
%:i—y;(x>0,y>0) B WIE FA AW TH W
it B

(1) =y @) x=y*

(3) x=2y (4) y=2x

[;%:):1 3 R = e o n @

(1) 8 (2) 4

(3) 12 4) T ¥ P T

% G 6% B e % 99 B o 0 far ¥ qn
90 argue # fawifer e @

(1) 1:2 2) 1:3
(3) 23 (4) 378 ¥ 3 T
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